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THE OPEN UNIVERSITY OF SRI LANKA

B.Sc. /B.Ed. Degree Programme, Continuing Education Programme
APPLIED MATHEMATICS-LEVEL 03

No Book Test (NBT) 2017/2018

ADU3201/ADE3201/ADU3218 — Basic Statistics

Date: - 21.07.2018 Time: 1.00pm — 2.00pm

Instructions

s This examination 1s of One hour duration.

¢ There are two parts to the question paper. Part A consists of 10 multiple choice questions.
Fach correct answer is given 5 marks. Part B consists of a structured essay question.

Fifty (50) marks are allocated for this question. distributed as indicated.

e Answer All questions. At the end of the examination, handover Part 4 with correct

. . 1]
answers underlined along with the answers to Part 5.

e Non-programmable calculators are permitted.

Part A
Underiine the most suitable answer from the choices given.

1. Identify the measure that is suitable for nominal data.
ay Sample median
b) Trimmed mean
¢} Mode
d} None of the above measures

2. What is the most suitable statement for the 10 data values 5', 5,5,5,8,10,10, 10, 11, 657
a) Mean is bigger than the median.
b) Mean is bigger than the mode.
¢) Median is bigger than the mode.
d) All of the above statements are rue.
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3. A rescarcher computed the mean, standard deviation and coefficient of variance of the dried
weights (mg) collected on 30 plants. Later, the researcher discovered that the scale had an
error and 10mg has to be added to cach of the 30 data values. Which of the computed
measures will remain unchanged after the correction of the data?

. a) Mean
" b) Standard deviation
¢) Coefficient of variance
d) None of the above

4, Identify the most preferred measure of dispersion for a set of data with no extreme
observations.
a) Inter-quartile range
b) Sample variance
¢) Standard deviation
d) Range

5. If 100 is added to the largest data value in a data set, identify the fneasures that will not
change.
a) Standard deviation
b) Inter-quartile range
¢) Range
d) The measures (a), (b} and (c) will all change.

6. Identify the correct statement for a right skewed distribution.
a) Sample mean is smaller than the median.
b) Sample mean is smaller than the mode.
¢) The absolute difference between first and second quartiles is smualler than the
absolute difference between second and third quartiles.
d) The statements (a}, (b), (c) are all false.

7. The third quartile computed from the dried weights of 40 plants was 3.2mg. Identify the
correct statement.
a) Ten of the plants had dried weights smaller than 3.2mg.
b) Thirty of the plants had dried weights smaller than 3.2mg.
¢) Twenty of the plants had dried weights smaller than 3.2mg.
d) The statements (a), (b), (¢) are all false.
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8. The mean and standard deviation of 20 data values x,,x,,"*,x,, are 10 and 4 respectively.
The mean and the standard deviation of the new 20 data values y, (i =1,2,"**,20) obtained
by the transformation y, = 3x, +10 are respectively:

T a) 30and 12
" b) 30and 4

¢) 40 and 12
d) 40 and 22.

9, The values of a data set arranged in increasing order are 2,3,4,4,4, x, 5,5,8,8,10,10. Identify
the correct statement.
a) The median is less than 5.
b) The median is greater than 4.
¢) The mode of the data set is greater than or equal to 4.
d) All of the above statements are cotrect.

10. Identify the correct statement.
a) The 5% trimmed mean can never exceed the mean of a data set.
b) If the 5% trimmed mean and mean are equal, the data set has no exireme

observations.
¢) The tenth percentile of a data set is always less than the first quartile.
d) The statements (a), (b) and (c) are all false.
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Part B

11. The following table was constructed based on the times taken by a group of persons (in
minutes) to successfully complete a certain task.

Time taken (minutes) | Number of persons
20-29 20

40— 59 40

60 - 79 X

80 - 99 30

100-119 27

i) If the cumulative frequency corresponding to the 4™ class interval is 123, find x.
(5 marks)
ii) Find the sample size used in this study.
R (5 marls)
iii) Find the relative cumulative frequency corresponding to the third class interval and
clearly describe what it measures in relation to this study
‘ (15 marks)
iv) Calculate the sample median of the dafa.
: (15 marks)
v) Find the range of the data. .
-(10 marks)
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